This is a revised chapter of the book An Introduction to Bodo Script: Reading and Writing (2019)
edited by Aleendra Brahma & Bridul Basumatary and published by Central Institute of Indian
Languages, Mysuru, Karnataka, India

Chapter-X
Basic orthography

Lesson-1: Clusters in writing system

Rule-1: Word initial and syllable initial two consonant letters are written as a cluster.
For examples- S, &, Seil¥, S, Felld, WHFAS (TH.Fg), TR (81.301),
TS (TLER), TME (1I1%), G913 (IMR), TIR (B1I9), T8 (F.I15), A
@R, TR (@F.gf), BEFA (not BRAM), ete. (. indicates the syllable
boundary.)

Rule-2: In case of a multisyllabic root, the coda of the preceding syllable and the
onset consonant of the following syllable are written as a cluster. e.g, SIS

(ST TS, FIET (A1), T (F1S.319), e (JF1.819), S1IRY (81.2R.fF), etc.

But, in case of derived words or stems, the neighbouring consonants do not form
clusters. For examples- -cflg (not Yrellg), WHAUTZ (not TUTS) GHETfel (not
greTfen), feRawsnfal (not fRegwifer), AMRIT (not AWT), SMIFSHT (not 31f=or),
RAMT (not RAF), ete.

Note: The suffix {-dTfel} which means ‘place’ when co-occurs with a root,
doesnot change its graphical form.

Rule-3: Regardless of the position and syllabic boundary co-occurring three
consonant in a root word, if the final consonant is ‘¥’ then it should be a three letters

consonant cluster. For examples- ST=H (swim), |12, A=), v/, ST, T7s, M,
QI AT, HRE=<T, HFSH, etc.

Rule-4: If suffixes with onset consonant clusters ‘Y’, ‘U°, 3°, ‘e, ‘Q’, W, ‘&

and ‘&’ co-occur with roots or stems ending in consonants, then the ending

consonants will not combine with the above two letter clusters to form three letter
clusters. For examples-



a9+ {-f} —
g+{@y -
T+ {F} —

g+ {-9} —

HHfE (thought)

SiCll
aHg

Skt
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TR + {-J16}
R + {1}
g™ + {-%}

B + {-51}

—

—

—

—

TR
SRl

S
PSR

Rule-5: Both the sequences- T and T are simultaneously used as in
BT/, /AT, BRIFF/BIRTST, etc. The latter may be followed.



Lesson-2:gvsJand I vsd

Rule-1: All the non-verb roots with oi/ai and iu/ao diphthong endings end in ‘g’ and
J” respectively. For examples- &S (main), ATg (other), S8 (leaf), fherg
(fruits), BT (tooth/market), ATZ (paddy), &3 (life), = (bird), A (boat), AT
(gourd), STHTS/3THTS (foolish), TTS (curse), WIS (tortoise), etc.

Rule-2: The final ‘i’ in the derivational suffix {-2ITg}, a form of ‘fheTS’ (result) is
always written as ‘g’ as in SITATg, ‘:ﬁ:QTI?z’, NIATg, HIIAT, etc.

Rule-3: All the verb roots and stems with oi/ai and iu/ao diphthong endings end in
‘Y’ and ‘T’ respectively. For examples- 1T (break), T4 (roast), dTd (do), 1T (scold),
eIl (drive), etc.

Rule-4: The middle ‘i’ followed by ‘a’ in root words is always “d’. For examples-
ST, AT, 31T, d1IATed, BIYT, etc.

But, middle ‘i’ followed by ‘a’ in stem words may be ‘S’ or ‘I’ on the basis of the
original spelling of the roots participated in deriving the stems. For example- @Tg®HI
which is derived from ‘eflg’ (leaf) and TP’ (plant). The middle ‘i’ is ‘S’ in this word
because it is already there in one of the deriving word ‘@Tg’. Other examples- SIS
(11 and TIT), ‘TI?{%’ (AT and 'Q’), etc.

Rule-5: The middle ‘u” sound followed by ‘a’ and ‘e’ in root words is always ‘d’.
For examples- STEET, U@, STERgT, STTaT/Sias, e, WIdl, HERIT, BaRAT, I4R,
Qe @il etc.

Again, middle ‘v’ sound followed by ‘a’ and ‘e’ in stem words may be ‘3’ or ‘I’
on the basis of the original spelling of the roots participated in deriving the stems. For

example- SIS + 7T = SR,

Rule-6: Frequently used words with exceptional spelling rules: ST (but), &I
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(for), I (betelnut), SINEIC] (moreover), 9 (self), Y19 (language), WId (acting), 1T
(injustice), 319 (bug), etc.

Rule-7: Another established rule on the basis of ‘S’ and ‘I’ is that if a nominal
root word is of the structure ‘Cai.Cai’ (C means consonant here) then the ‘i’ in the

preceding syllable will be ‘T* and the other ‘i’ in the following syllable will be ‘g’.
But, to give an example of a nominal root of this structure is difficult.

Similarly, in the nominal root words of the structure Cau.Cau the preceding ‘v’
will be “9” whereas the following ‘u” will be ‘3’. For examples- SRS, TTANT3, etc.

Exceptional to this rule is- if words with such structures i.e. ‘Cai.Cai’ and
Cau.Cau are derived from other root words then the spelling of the root words will

retain in the derived words. For examples- ATSIT, Y[IATg, etc. because HATSATY is a
combination of the roots {A1g} ‘paddy’ and {MA} ‘bear (fruit)’ and TIATS is a
combination of {J1T} ‘explain’ and {-ITg} ‘outcome/result’. This rule is followed in
case of the derived words of the structures ‘Cau.Cai’ and Cai.Cau as in QI3N[g,
RTICMd, etc. because ST3VTg is derived from {ST13} ‘bird” and {I1S} ‘a species of birds’
and YT is derived from {J1} ‘speak’ and {-<Id} ‘experience’.

‘Y vs ‘U’ and ‘3’ vs ‘9’ at the suffix endings

The ‘¥, ‘T°, 3 and ‘d” suffix endings are not changed in the inflected word forms or

derived words. The ‘¥, “U’, ‘3’ and ‘9’ suffix endings are shown below with
illustration of appropriate examples-

{-3ma} — @ {-s=} — BN
{1} - SR {-m} —  ¥EE
fggr -  ofgg | (P - oifwm
{-om} - T {-em} —  theE

(ST} - Add {-<a} — e[




Lesson-3: Allomorphs of {-31T} and {-3119}

Different forms of {-31T} and {-311d} suffixes

{-31T} is an inflectional suffix which has two different grammatical values, namely,

Nominative Case and Negative markers whereas {-311d} is a Locative Case marker.

Both of them are identical and share the same kind of morphophonemic changes in
the Bodo orthography and hence they are taken together here.

Rule-1: {-31T} and {-311d}: After the words ending in ‘1. For examples-

{-3}
T +3T —
M+ —
mEr+3m
A+ -

TRTRT
IS
ICIE]
IR

{-37ra}
TR +3ME — TR
TEI+3Md  —  TNERIE
meT -+ —  MEeTd
AM+3Ma  —  ANE

Rule-2: {-a7} and {-I1@}: After the words ending in <37, “fiz’, 3 and ‘0P

sounds. For examples-

{-7n
ffr+am -
ffff+am o
N+ e —

BT + 31 —

'\ET+31T —

{-ar}
M+ 3T — KIRIRIE]
JAfF +ME —  Jerad
diel+3ma —  odieRma
wd e -  ERRE
SFh+IE - SRhaE
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Rule-3: {-a1} and {-31d}: After the word ending in ‘g’. For examples-

{-77}
Yellg + 3T — AT
GEg + 3T —  Waelsdd
HIIYTg + 3Md — HITATSATT

Rule-4: {-aT1} and {-d19}: After the words ending in ’, 3, “03’ and ‘3P, For

{7
fmg +om - fomiEEn
GEaAg + 3 —  graelsar
g +em  —  fhaEan
examples-
{-a1
g7 + 3T — CRECI

QI3 + 3T — 34

g+ 311 — Mdt
g+ - "N

{-ara}
W+IAE  — G
LISEEIC — LISEIE
Y+ AT — ER2CIC)
TSt +3M@ — Wi

Rule-5: {-:T} and {-<:1d}: After the words ending in a consonant. For examples-

{-an
5 + 371 — HT
o + 3T — AT

{-ara}
g9 + 3ATd — HHIT
o + 319 — GG

Note: If the final consonant is “S” in its secondary form as in ‘T’ it will retain its

primary form and the suffix {-:TH{-<:Td} will co-occur with it. For examples-

{-:1}
T+ 3T — TST

ggra - Gl

{- 214}
GV + 3T —  Groleld
gg+aa - GG



Lesson-4: Allomorphs of {-Bﬁ}

Different forms of {-&11} suffix

{-Sﬁ} is an inflectional suffix which has two different grammatical values, namely,
Nominative Case and Habitual Aspect markers. Its different allomorphic forms are {-

21}, {-a1} and {-a@}. The environments are given below-

Rule-1: {-~:IIZ:~T}: After the words ending in consonant letters or semi vowel letters.
For examples-

gR+{-3} — I G+ {30} — @
qIq + {-3ﬁ} - grar UK + {-e,ﬁ} — R
T+ {-31} — T R+ {3 >  foOR
qa+ {3} — g IR+ {-3M —» AR

Rule-2: {-31}: After the words ending in vowel letters or sounds other than
secondary form of “3it’. For examples-

S+{-a} - oA G+ {81 - @

ar+ {3} — o™ AE+ -3} — R
Refem - & g+ {3 —  EEd
g+{-3} — S I+ {30} —  FA

Rule-3: {-Eﬂ}: After the words ending in secondary form of ‘31" letters. For
examples-

dt+{-a} -  IE g+ {3 —  dar



Lesson-5: {--:f:?} VS {-ﬂ} and {-ﬁ.’.::-} VS {-ﬁl}

Rule-1: {-3} vs {-&}

Rule-1.1: {-':ZI?}: After words ending in consonant letters. For examples-

asl - AR qER  —  "ER
251 SR G A9 > A

MR —  TER dER —  dER
AR —  AWR UICHE IO

MIR —  MUR Mo — TS

Rule-1.2: {-3}: After the word ending in vowel letters. For examples-

® - T - TR
mEeE - el A - A
™ - IRE Mt — el

Rule-2: {-f23} vs {-f1}

Rule-2.1: {-f:}: After the word ending in consonant letters. For examples-

YR —  W@R TR —  dR

15 S 11 ™ - W
Rule-2.2: {-f}: after word ending in vowel letters. For examples-

T - R S5 I 1)

v - B K S 1

& - L 1




Lesson-6: Use of the secondary form of 31

The punctuation mark (*) known as apostrophe is used as a secondary form of 3 in
Bodo. 31 sound occurring as the rhyme of a syllable other than the first syllable in a
word is represented graphically with an apostrophe (*). For examples- W.X’ (head), s’
(submerge), He’HT (novel), &e&HT (Adam’s apple), I8 (erget), A (swallow),
WT-WT (a thorny plant of NE India), etc.

But, in the words like 9=, (°) is not used though it appears that there is a 31’
after the letter “@’. This words has three syllables— .S — here, ‘W’ is not a
syllable and hence does not take ().

Another type of words includes &Si&’ (sixty-six), A1a@’ (office, workplace),
fERE” (uterus), ST (zero), etc. where the final syllables /°/ and /R&’/ are the

lexemes for ‘six’ and ‘chamber, container’ respectively. Initially, these are spelled as

< and 9 i.e. without the use of (*) after them as they are monosyllabic words. When

they are suffixed to other bases to become second/third/fourth/fifth/... syllables they
take () due to resyllabification.

A single syllable word or the first syllable in a word, ending in 31 sound is written
without using this secondary form. For examples-

In the word- 9.%’, the first syllable is  (bo) ending in 3T sound; but as it occurs in
the first syllable position the secondary form of 37 is not used. Again, in the

monosylabic words - (house), ST (sit), ¥ (wait), etc. ending in 37 sound the secondary
form is not used.

Another rule associated with the use of apostrophe is that if the syllables other
than the first syllable of a word are of the structures- CCV, CCCV, CCCCV and so on

(i.e. other than CV), then the apostrophe is not necessarily used. For examples- SHsHT
(not SHS°HT), SI& (not F&T), REISHT (not RES°HT), SIFeRAT (not S=er°wdT), etc.



Lesson-7: Deverbal adjectives

Deverbal Adjectives of the structure “gV prefix + Verb — Adjective” derived from
verbs ending in ‘I’ and ‘d” letters do not change the final letters. For examples-

{Tﬁ-} + 919 ‘become late’

{T-} + 81T ‘lower, become low’

—

—

{M-} + T ‘lengthen, become long” —

{ﬁ-} + 999 ‘rot’

—

e “late’
el ‘low’
AT ‘long’
T ‘rotten’



Lesson-8: Writing system of coda ‘7’ (letter) followed by a suffix with
onset

If the roots or stems/prefixes with ‘I° letter in final position take immediate

suffixes/roots or stems with onset consonants, then the ‘T’ letter retains its primary
form. For examples-

M + ST —  gEeT B+ {91} — BT
BF+TE —  BF9E 9+ {<} — A
{(AF-}+d —  HAEET IqE+gm - gEYW
IH+96 -  IEaE A9+ R+ —» AN

But, if the words as a whole are roots where ‘I’ occurs in the coda position of the

preceding syllable followed by another syllable with onset, then the letter ‘” makes a
cluster with the onset. For examples-

TRGTS, 3LTg, HI=T, BI-olT, Bhi-oTgfe, feTs, TR, o1l etc.




Lesson-9: Writing system of coda “H” (letter) followed by a suffix with
onset

If the roots or stems/prefixes with ‘A’ letter in final position take immediate

suffixes/roots or stems with onset, then the ‘A’ letter retains its primary form. For
examples-

I9+{5} — I G + {-B} —  TE®HI (burn together)
9+ {AE} — TR TH+IF > TG
WH+UR —  @HUR T+ {F — e

But, if the words as a whole are roots where ‘H” occurs in the coda position of the
preceding syllable followed by another syllable with onset consonant, then the letter

‘H” makes a cluster with the onset consonant. For examples-

WTFRT (tomb), STTHIT, STHIT, etc.

Exceptionally, some words are spelled without following this rule. For example-
AIFHT. The reason behind this spelling is the assimilation during the articulation of A

and % sounds.



Lesson-10: Writing system of coda ‘€’ (letter) followed by a suffix
with onset

If the words with ‘9 letter in final position take immediate suffixes with onset

consonants, then the ‘9’ letter retains its primary form. For examples-
Qe+ {-B} —  GEhI Te+¥E —  TEEd
AT+ {M} - A9 e+ {1} — e

But, if the words as a whole are roots where ‘g’ occurs in the coda position of the
preceding syllable followed by another syllable with onset consonant, then the letter

‘g’ makes a cluster with the onset consonant. For examples-

fOreaT, MieqT, 3YTET, TS, TS, etc.



Lesson-11: Writing system of coda X’ (letter) followed by a suffix
with onset

If the words with ‘X’ letter in final position take immediate suffixes with onset

consonants, then the ‘X’ letter retains its primary form. For examples-

9R + &l —  GRel IR + 79 — o9
ﬁ?-l—@-i' — w R+{-¥} — G
3R + T —  3RCM feR+{< — foRal

But, if the words as a whole are roots where ‘X” occurs in the coda position of the
preceding syllable followed by another syllable with onset consonant, then the letter

‘¥’ makes a cluster with the onset consonant. For examples-

Tl'l?ff, Tﬁﬁ, Eﬁ?fl'f, \_rl'l?ff, lﬁ?’l'f, Tﬁgﬁ, etc.



Lesson-12: Co-occurences of postpositions with head words

The postpositons 9T, MRT, &Tfe, TT, MW, TSN, GHET, T1f, e, etc. while co-

occurring with their respective head words follow certain rules.

The postpositions T, MRT and TS occur as free words or suffixes to their head
words following two different rules whereas T, TSI, TSI, T, A1 and e

always co-occur with their head words as free words only. For examples-

(a) FF + AT — AR (b) R + AT — TR AT
(c) &Y + TRT — MERIRT (d) TEI + TR — eI MRy
(e) T+ I1ie — W () &M + a1 - sy o

(g) H + TRAT — AN M= (h) FTET + TSI — HTET Ml
(i) STRIM + ST — STRGTT AT (j) ST + GHET — T GHT
(k) TR + AT — I A1 (1) BT + ATl — T el

In the examples (a), (c) and (e) above the postpositions T, MRT and ST

respectively are co-occurring with the head words. The head words AT, el and &

are roots without any affix. Therefore, the postpositions co-occur with them as
suffixes. But, in (b), (d) and (f) they are not co-occurring with the head words.
Because, the head words have suffixes co-occurring with them.



Lesson-13: Complex verbs

Complex verbs are always written as single units like individual words. For examples-

fAfIEr (not S 8Y); e.g.- 3 s fAfIEMRT SRS Srergf S9N @rga=
SIS HTeRg eldTed YA S |

ST (not TIST of); e.g.- TS AR YeraT Tgaen(d|

BT (not 3 S1T); e.g.- [FemeT AR YAATSIT Soforen(d |

GITARIE (not TR &); e.g.- T SEThINATE oI et ARERT
ARG GTTATIERART € |

Torfeh (not JATA H); e.g.- HATH HATITG Mali IFADBRT JoTTfAhRIHI |

BRARIART (not RARI AR); e.g.- AR M FTeRRET hRAR—RIGH I |




Lesson-14: Writing system of numerals

All the numerals upto 100 are written as single words in Bodo. For examples-
g (@), NfE@7), A 23), omion 32), s (4o),
qfS (51), eEm(65), AR (79), AN (84), INTET (98),
SRS (100)

If a numeral is in between 101 and 1000, then it is written as a phrase containing a
couple words. For examples-

TS H (101), TSt € (206), TSI SIS (324),
SIS (450), TSIt &18 (508), il STSARSIETS (688),
&St ST (799), qrsTal folerm (813), TSt SISO (983)
ST (1000)

Note: 1000 is also written and read as a single word as RIS,

The numerals beyond 1000 upto 9099 with the second digit ‘0’ are written and
read as a phrase of three words. For examples-

J AN (1001), 3 3IST IR (1099), = AT SIS (2052)

But, the numerals beyond 1101 upto 9999 with the second digit other than ‘0’ are
written and read as a phrase of four words. For examples-

I 3ISHT HS ¥ (1101), AT AT TSl qIOHET (3155), sF ST Soit T (4609)

Multiple numerals of 1000 upto 100000 are written and read as a phrase
containing a couple words. For examples-

1000 — "I 79000 — e
6000 — gl 99000 — IR

65000 -  efS9rAe 100000 S gdg
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Again, multiple numerals of 100000 upto 10000000 are written and read as a
phrase containing a couple words. For examples-

200000 — AT 5900000 — SRR ARG
6600000 — SN T 9300000 — TR ARE

65000 —  efSeErds 10000000 — ¥ HEIfe



Lesson-15: Spelling system of loanwords and proper nouns

Based on the sounds in the loanwords and proper nouns the corresponding letters with
be used in spelling. It also follows the sets of rules already mentioned above in the
preceding lessons of the same chapter. The corresponding letters with the sounds they

carry are given below-

K,q—
jh—#&
n—+
p-1

i—gf

Some examples of loanwords and proper names are given below-

TATETS, B, 0T, TS, T=aT, Ire T, MU, T, etc.

gh-d
t-¢
n—"0f

bh -9
i o

ch—-d
d-S
rh—g
sh—9 ¥

[
u-3 Y

chh—-©
dh-9,3
th—$
ri—=k iy

u: =, 0y

N.B.: This is a preliminary version. For any query, suggestion and addition, please
write to us at bodojournal@gmail.com. We are bringing out a simplified and much
more detailed Bodo spelling rules as a Bodo-English bilingual volume, shortly.
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